[> restart;

> P 1= x°2;
Q := (x-1)"3%x(x"2-2);
P:=x2
0:=(x—1)° (*-2)
> B := gcd(Q,diff(Q,x));
B= (x— 1)

> alias(D=DD):
> D := Q/B;
D= (x—1) (x¥*—2)

> H := normal(Dxdiff(B,x)/B);
He=2x—4

[ deg(A) < deg(B), deg(C) < deg(D)
> A := a[0]+a[l]lxx;
A= a + a;x

> C := c[0]+c[1]xx+c[2]*x"2;
C:= CO-I-clx—i-czx2

(> ANSATZ := A/B+Int(C/D,x);

> zero

ANSATZ

> P=diff(A,x)*D-AxH+CB;
x2=a1 (x—1) (x2—2) — (ao—i-alx) (2x2—4) + <CO+clx+czx2) ()c—l)2

= — + dx

collect(P-diff (A, x)*xD+AxH-CxB,x);

—cl)x—2a1—4a0—co

o 4 3 2
Zero = -y X +(a1—cl+2c2)x +(1+a1+2a0—co+2c1—cz)x +(—2a1+2c0

cl+202, —2a1—4a0—co,1+a1+2a0—co+2cl—cz,

5.6 =4¢=6,a,=4

> eqns := {coeffs(zero,x)};
eqns = {—2a1+2c0—cl,a1—
-6}
i> sol := solve(eqns);
sol == 02=O,a0=- )
> ans := sort( eval(ANSATZ,sol), x );



7
4x— =
2 4x+6
ans = 7 T > b

=1 =1y (F-2)
> simplify( diff(ans,x) - P/Q );




